Adqu Fractions with Different  Denominators

Answers
/ | N Lo 2 N L 6 3
A 8 8 s 8 L
L L 8 L 12
: + = = =
2 b |2 2 T 12 /
Y 2 2 b 8
3. + = + =
q 3 q q q
q 3 q b 15 3
L. + = - = -
20 10 20 20 20
| | I 2 3
5. + - - -
L Vi L L L
5 2 .5 N 59
C5 10 10 10 10
3 | 3 2 5 /
/ + = + = = S
I Vi L L L IL
8'5+3+L:IO+IZ+L=Q=E=IL
10 5 20 20 20 20 20 10 10
N 8 N 3 Il
b |2 12 12 12
i 3 8 q |7 5
=4 = = = = [—
10 3 L 2 T 12 //2
A A L A
CL /) 12 12 12 12 b
9 L Il . g 19
Y, Il 22 22 22
| L 7 12 19
|3, —+ = - -
3 7 21 21 21
3 Vi 12 10 22 2 |
5 L 20 20 20 / 20 I/o
|2 7 12 b 18 3 /
|5, + - + _ I
|5 5 15 15 15 15 5
g B, 2, 18 6 8 32 _ & _ L
L g |2 2L 2L 2L 2L 2L 3
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